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Instructions for the Candidates

Write your roll number in the space provided on the top

of this page.

This paper consists of fifty multiple-choice type of

questions.

At the commencement of examination, the questlcm

bookelt will be given to you. In the first 5 minutes, you

are requested to open the booklet and compulsorily
examine it as below : '

(i) Tatly the number of pages and number of questions
in the booklet with the information printed on the
cover page. Fault booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced
immediately by a correct booklet from the
invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklat will be
replaced nor any extra time will be given.

(ii) After this verification is over, the OMR Sheet
Number should be entered on:this Test Booklet.

Each item has four alternative responses marked (A), (B),

(C) and (D). You have to darken the oval as indicated

below on the correct response against each item.

Example : () (B @

where (C) is the correct response.

Your responses to the items are o be indicated in the

Answer Sheet given inside the Paper [ Booklet only. i

you mark at any place other than in the ovals in the

Answer Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of

the test booklet, except for the space allotted for the

relevant entries, which may disclose your identity, you
will render yourself liable to disqualification.

You have to return the test question booklet and OMR

Answer sheet to the invigilators at the end of the

examination compulsorily and must not carry it with you

outside the Examination Hall.

. Students can take home carbon copy of this OMR

answer sheet.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.
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Paper Code 1 [ 06 ]
Paper-11 [POLITICAL SCIENCE]

e This paper contains Fifty (50) multiple choice questions, each question carrying two (2) marks.

o TH WY § USH (50) Sgfaehedta e ¥ | W U9 % o (2) 36 B

The term 'city-state' is used for which of

the following ?

(A) The states in ancient Greece

(B) The local government bodies in
England

(C) Small states of modern times

(D) The states of a federation

Plato fixed the population of an ideal
state at which of the following ?

(A) 6040

(B) 5040

(C) 10000

(D) 7000

Who said "Virtue 18 knowledge' ?
(A) Plato

(B) Aristotle

(C) Acquinas

(D) Mill

The Marxists hold that :

(A) The state is a class structure

(B) The state represents only the
workers

(C) The state represents the entire
community

(D) The state is a power system

P.C.--POL.SCIL.-11/900
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Who of the following are considered as
the early inteilectual exponents of
behaviouralism :

(A) Arthur F-Bentley and Charles

Merriam

(B) David Easton and George Catlin
(C) David Easton and Arthur F. Bentley
(D) George Catlin and Charles Merriam

- Kautilya has identified four sources of
law. Find the correct pair from the

following :

(A) Dharma, Vyabahara, Charitra, and

Rajashasana

(B) Dharma, Vyabahara, Samaharta and
Rajashasana

(C) Dharma, Vyabahara, Charitra and
Danda

(D) Dharma, Amatya, Charitra, and

Rajashasana

Which one of the following is not a part
of the Saptanga theory of Kautilya ?
(A) Danda

(B) Mitra

(C) Kosha

(D) Rashtra

Who of the following philosophers is
considered the exponent of modern
individualism ?

(A) Graham Wallas

(B) Laski

(C) Leacock

(D) Hobbes

P.C.~POL.SCL-I1/900
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9. The organizational approach to the
"Elitist Theory' is reptesented by whom
of the foHowing :

(A) Vilfred Pareto

(B) Gaetano Mosca
(C) Robert Michels
(D) C. Wright Mills

10. Which one of the following is not one -~

of the
Development ?

(A) Capacity

(B) Fraternity

(C) Equality

(D) Differentiation

indicators of Political

11. The national barliamentary body of
China is known by which of the
following names ?

(A) Supreme soviet

(B) State council

(C) National People's Congress
(D) People's Assembly

12. Inthe American presidential election, in
case no candidate secures required
majority, the decision is referred to
which of the following ?

(A) Senate ‘
(B) House of Representatives

(C) Electroal College
(D) Supreme Court

P.C.--POL.SCL-TI/900
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13.

14.

15.

16.

Who among the following employed
cconomic approach to the study of
governments ?

(A) David Easton

(Bj Charles Schumpeter

(C) Charles Merriam

(D) Gabriel Almond

Which of the following is the most
favoured technique of pressure groups in
the US.A.?

(A) Boycott and picketing

(B) Total Strike

(C) Lobbying

(D) Peaceful agitations

Lucian W. Pye has talked about the
syndrome of political development in
which of the followig books ?

(A) Political Develoment

(B) Aspects of Political Development
(C) Dimensions of Political
Development

(D) Public opinjon and Development

According to Max Webet's views
modern governments are increasingly
dependent on which of the following :
(A) Divine Right of rulers

(B) Skiltful manipulation of the ruled
(C) Personal charishma of rulers

(D) Recognised authority of certain

offices of state

P.C.--POLS.SCI.-II/900
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17.

18.

19.

The system of having a plural executive -

is prevalent in which of the following
countries ?

(A) US.A.

(B) UK.

(C) France

(D) Switzerland

Structuralism is a variant of both
institutionalism and behaviouralism. It
concentrates on relations between which
of the fdllowings ?

(A) Behaviour and observation

(B) Observation and Analysis

(C) Analysis and output

(D) Individual and the community

System theory of organisation is based

on which of the following principles ?

(A) All parts of the organisation are

interdependent

(B) All elements in an organisation
function are independent of the
other

(C) All elements in a organisation
counter each other

(D) Each element in an organisation

functions as a check on the other

P.C.--POL.SCI.-11/900
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20.

21.

22.

23,

In India, the Railway department can be
placed under which of the follwoing
categories ? |

(A) Supervisory department

(B) Operational department

(C) Federal department -

(D) Unitary department

Identify from the following the goals of
New Public Administration :

(A) Relevance

‘ (B) Values

(C) Social Equality
(D) All the three

Organisation referes to which of the
followings ?

(A) St%uctﬁre

(B) Process

(C) Both strﬁcture & process

(D) None of these

Who among the following wrote the
book 'Towards A New Public
Administration : The Minnowbrook
Perspective' ?

(A) Frank Marini

(B) Dwight Waldo

(C) C.J. Charlesworth

(D) J.M. Pfiffner

P.C.--POL.SCL-II/900
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24.

25.

26.

27.

Who rejected the principles of
administration of 'Myths' and 'Proverbs'?
(A) W.F. Willoughby

(B) Herbert Simon

(C) Chester Barnard

(D) L.D. White

Who among the following is an odd
thinker ?

(A) Taylor

(B) Maslow

(C) Herzberg

(D) Likert

Bureaucracy that is committed to the
programmes of the political party in
power is called :

(A) Depoliticised burcaucracy

(B) Semi politicised buraucracy

(C) Committed bureaucracy

(D) Fully politicised bureaucracy

Which of the following is not a staff
agency in India ?

(A) Cabinet Secretariat

(B) Cabinet Committees

(C) Planning Commission

(D) Economic Affairs Depértment

P.C.--POL.SCL-1I/900
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28.

29.

36.

The civil service was defined as
"professional body of officials,
permanent, paid and skilled” by which
one of the followings :

(A) Herman Finer

(B) 0.G. Stahl

(C) Felix Nigro

(D) E.N. Giadden

If any dispute arises regarding election

of the president, the same shall be
resolved by the :

(A) Election commission

(B) High Court

(C) Supreme Court

(D) Parliament

Maximum how many members can be
elected from the Union Tertiories for
Lok Sabha ? .

(A) 20

(B) 25

(C) 30

(D) 35

P.C.--POL.SCL-11/900
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31.

32.

33.

34.

Under the 73rd amendment to the
constitution, Panchayats have been given
powers on how many subjects ?

(A) 18

(B) 29

(C) 38

D) 49

Which of the following has been termed
as the "Supréme Cabinet of the Indian
Union" ? .

(A) Finance Commission

(B) Planning Commission

(C) Inter-State Council

(D) National Development Council

Tndia is a Republic' which means :

(A) People_havé the final authority in all
matters

(B) India has a parliamentary system

(C) The Head of the state is not
heridetary

(D) India is a Union of states

Which of the following terms have not

been mentioned in the constitution ?
1. Budget

2. Governor

3. Political Parties

4. Cabinet

P.C.—POL.SCL-1I/900
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Select the correct code from the
following :

(A)1,2and 3

(B)2,3and 4

(©) 1,3and 4

(D) 1,2, and 4

35. The preamble of the Indian constitution

currently contains five words :

1. Democracy

2. Sovereign

3. Secular

4. Socialist

5. Republic

The correct sequence of these words is:
(A)2,4,3,1,and 5

B)1,2,3,4and 5

() 1,2,4,3and 5
(D)4.2,3,5and 1

36. The only President to be elected
unopposed was :
(A) Dr. Rajendra Prasad
(8) Dr. S. Radhakrishnan
(C) Shri V.V. Giri
(D) Shri Neelam Sanjeev Reddy

/,P.C.—POL.SCI.—II/900
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38.

P.C.~-POL.SCL-11/900

Regarding chief characteristics of
fundamental rights, which of the
following statements are true ?

1. Fundamenta! rights are more
sacrosanct than other rights
mentioned in the constituion

2. Reasonable restrictions can be
imposed on fundamental rights

3. Fundamental rights are justiciable
and they can be énforced by the

supreme court

Select the correct code from the
following :

(A)1,2and 3

(B)land2

(C) 2 and 3

(D) None of the above

Which of the followig constitute
exceptions to Article 14 (Equality before
law) ?

1. President

2. Governor

3. Prime minister

4

Foreign Ambassadors .

Select the correct code from the
following :

(A) land 2

(B) Only 1

(C)1,2and 4

(D) 1and 3

1
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39.

40.

41.

42,

The view that law and liberty are
opposed to each other has been
expressed by which of the following
groups 7

(A) Idealists

(B) Anarchists

(C) Marxists

(D) Socialists

Equality in the positive sense means :

(A) Provision of basic necessities to all
members of society

(B) Provision of adequate opportunities
to all

(C) Equality which is backed by the
force of law .

(D) Equality bestowed by nature

The idea of internationalism involves :
(A) Total abandonment of nationalism
(B) Partial abandonment of nationalism
© Adequaﬁe recognition of cultural
distinctiveness of nations
(D) Derecognition  of  cultural

distinctiveness

The General Assembly of the United
Nations passed the Uniting for peace
resolution in the wake of which of the
following context ?

(A) Berlin Crisis

(B) Suez Crisis

(C) Korean crisis

" (D) Vietnam crisis

P.C.-POL.SCL-11/900
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43.

44,

45.

46.

Which one of the following was not the

impact of the Gulfwar of 1991 ?

(A) Inefficiency of the UN

(B) Decline of the Soviet Union

(C) Use of modern sophisticated
weapons

(D) Check on Fundamentalism

The collective security measures are
elaborated by the UN charter under
which of the following chapter ?

(A1

B v

(C) VI

(D) VII

How many Articles were there in the

covenant of the League of Nations from

‘the follow'ng ?

(A) 25
(B) 26
(C) 27
D) 28

The election of judges to the

International Court of Justice in done by

whom from the followings ?

(A) The General Assembly

(B) The Security Council

(C) Joint voting by the General
Assembly and the security council
both

(D) Idenpendent voting by the General

Asemlby and the security council

P.C.—-POL.SCL-11/9500
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47.

48.

49.

50,

How many countries have participated in
RIO 11 Summit ?

(A) 193

(B) 181

(©) 192

(D) 182

How many members countries are there
in SAARC?

(A9

B)7

(C)8

D)5

Quoto protocol deals with which of the
following issues 7

72V] Bio-diversity

(B) Global warming

(C) Environmental Degradation

(D) All of the above

Arrange the following in ascending

chronological order as these emerged :

(i) NAM

(ii) SAPTA

(iii) ASEAN

(iv) BRICS

Codes:

(Ayi i @ v
B®)i i i v
©i iv i i

®yi i v i
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47.

48.

49,

50.

i 11 wiver 9 faw S % wevfima =17
(A) 193
(B) 181
(€) 192
(D) 182

o1 ¥ T ween @ €2
A9
(B)7
)8
®)s

‘iR PRt Frtated § § fhod st
LI

(A) 3= fafgear

(B) 3t Togfs

(C) TataTr sX

(D) s%fw @it

frfafad # SeuT & STER T TR FH
TR Stk FT :

@ ™

(i) =

(iif) snfeEm

(iv) o

T

Ai i il iv

(Byi i iii iv

©yi iv iil ii

oi i v i




